2022E R = AP R XHHLEREAE TRELNIHEERP)

1.
B aA={xx"+2x-320} B={x[2"<1} pANB= ()
A (- -3] g (- -1] c [-30] p [01]

2.
3+

IREREAL, M~ ()
A, 2—i B.2+£C. 1-21 D. 1+ 2i

3

B gy Se, £YMEN L, @, =20-3n S, S ()
A.60B.57C.54D. 51

4.
2y

m =S v MABEREH O
A A TFBBGRM B, LERFA K C. RBEM D, R AA LB

S.
MEFTREFAER, B HBHEP <3y, WHHST O

" I |

S=bhi=1j=1

A.2B.6C.10D. 34

6.

%%{f(x) = 2sinxsin(x + g) K /MER MR RER ()
A 2ml g ml o H’% D, ™2

7.

b R N a7
EEEEGbgRlal =1bl=1, al(a=2b), mjla+bl= ()
A 1B. £ c. 8D 2

8.



